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A. Best m-th order polynomial fit
1. Write a (MATLAB) function that determines those m+1 points within the interval

In file chebypoints.m
function [arrayPoints] = chebypoints(a,b,m)
%%function [arrayPoints] = chebypoints(a,b,m)
%%get interval (a,b) and (m+1)interpolation points
%%return the m+1 points
zi=zeros(1,m+1);
for (i=0:m)
xi=cos((2*i+1)*pi/(2*(m+1)));
zi(m-i+1)=((b-a)*xi+a+b)/2;
end
arrayPoints=zi;
%%%%%%% %% % %% % %% % %% % %% % %% % %% % %% %

19l xi W= m+1x} Chebyshev that2 o] o 24 [-1, 1]Akelel &A=t o & [a, b] 7%+
THo® MEA77] 98 zi WFE E=QSSATh o] A2 g AduE 4% zi WE



2. Obtain the m+1 points and the function values at those m+1 points for
a f(X)=xe" ino, 15 with m=4

b. f(X)=cos(InX) in[1, 3] with m=5

of TAE &7] A v 22 Al 7He] matlab =

In file func2a.m

L
oX,
o
O

function [y] = func2a(x)
%%function [y] = func2a(x)
%%take length of x
%%return function value of y=x*exp(x)
n=length(x);
for (i=1:n)
y(i)=x(i)*exp(x(i));
end
%%%% %% %% %% %% %% %% %% %% %
In file func2b.m
function [y] = func2b(x)
%%function [y] = func2a(x)
%%take length of x
%%return function value of y=cos(In(x))
n=length(x);
for (i=1:n)
y(i)=cos(log(x(1)));
end
%%%% %% % %% %% %% %% %% %% %%
In file hw4a2.m
function [xa,ya,xb,yb] = hw4a2()
% A 28 TAE 7|99 FRIORZA
% AN Qs T Akl di Sl
% a3y} b o]l thE chebyshev HH &3 34273 g Eldt),
xa=chebypoints(0,1.5,4);
[ya]=func2a(xa);
xb=chebypoints(1,3,5);
[yb]=func2b(xb);



o] Matlab command windowoll A4l t}&3} £ - ES A
>> [xa,ya,xb,yb]=hw4a2()
xa =

0.0367 0.3092 0.7500 1.1908 1.4633

ya =
0.0381 0.4212 1.5878 3.9177 6.3217

xb =
1.0341 1.2929 1.7412 2.2588 2.7071 2.9659

yb =
0.9994  0.9672  0.8501  0.6860  0.5438  0.4650
>>

xat [0, 1.5] ¢ m=4 o] sF3= m+l e EHEC sFeta ya © AIGEe EHENA

FOO=xe" o grgkel gk xb o yb = Z47ke] 72hat Aol sk B 4
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3. Determine the (m+1) coefficient of each term appearing in the Lagrange interpolation (Use your

own program or the MATLAB script provided — lagp0.m)

WA gt g #E 244
In file hw4a3.m

function [coeff_a,coeff b] = hw4a3()

% a, b el gk Rl A e £33 1 EAECdA ¢
% raks o83l Lagrange AlFE T-gHoh.
xa=chebypoints(0,1.5,4);

[ya]=func2a(xa);

ot

o},

coeff_a=cifi(xa,ya);

xb=chebypoints(1,3,5);

[yb]=func2b(xb);

coeff_b=cifi(xb,yb);
%6%%0%%%%%9%% %% %% %% %% %% %% %% %% %% %% %%

o] &= Yo A chebypoints.m , func2a.m , func2b.m 123 oA FAdFHA
&3 o= A F3) Lagrange AlFE WE I = HT

Matlab command window®ll A th2-3} Zo] 3t &S 23
>> [coeff_a, coeff f]=hw4a3()
coeff a =
0.1190 -3.4460 16.0578 -32.0546 19.7569
coeff f =

-1.3796 3.6475  -4.3795 3.5339  -2.0507 0.6418

>>
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4. Divide the interval into 1000 subintervals and evaluate the polynomial and the function at 1001
points and then determine the maximum absolute error you’re your own or lagp.m).

e 22 s A e

In file hw4ada.m

function [maxErr] = hwd4ada(a,b,m,sub)

% $H y=x*exp(x) o tislA

% -7t [a,b]¢F = m Z18] 3 subinterval®] 714~ subE argument® W=t}

% Chebyshev polynomial®} A X A7 2}23#] WAHH-S =331

% Z} subinterval pointoll A p(X)#tS L AA 3= g3k vl dle] QS Ao
% A eakE 2ldstal, oAk 478 aHERE YERdY,

increment=(b-a)/sub;

xsubs=a:increment:b; Y%subinterval 2] 2 A4S gkt
xCheby=chebypoints(a,b,m); %1 A} 2 ¥-& 7+ Chebyshev 3ol o2
%LtER A T
[y]=func2a(xCheby); %zt ERNA e Fgts FHEoh
[cf]=cifi(xCheby,y); %t EHol MO TS o8Bt AlFE T
n=length(xsubs); %X subinterval+12] A Aol A
for (k=1:n)
approxF(k)=plintp(xsubs(k),xCheby,cf); Y%approximation &%k}
realF(k)=func2a(xsubs(k)); WA ik g
end
maxErr=0.0; %Nx7] L2} 002 dta
for (k=1:n)
tmpErr(k)=abs( (approxF(k)-realF(k)) );  %2xto] Adigts A A &
if (tmpErr(k)>=maxErr) %A F7FA e Hul QxR T AH
maxErr=tmpErr(k); % AE d el Egit)
end
end

plot(xsubs,tmpErr,'LineWidth',3); %2t A7]E agZE et
%%%9%%%% %% %% %% %% %% %% %% %% %% %% %

MES AUE ARSAA e 2 PHelE 1Y
>> maxErr_a=hw4a4a(0,1.5,4,1000)
maxErr_a =

0.0018

o

o},

>>



x 10
1.8

1.6 -

1.4 -
1.2
1

GEE wE 2 Bl YA oAsk i AL uwe] RA Aol i .7k 000182
o

=
& @ 5 A 293 o] oAt 2tmd wi A AL § @ 5 9

b ool tisiM = mix kAR &t WielA e aE sk FEwt func2b(® Wb SE €
o},
function [maxErr] = hwd4adb(a,b,m,sub)

[y]=func2b(xCheby); %zt Aol e ks FH g
[cf]=cifi(xCheby,y); %A LA ks o] &ste] AlFE e
n=length(xsubs); %X subinterval+1o] A} o a4
for (k=1:n)
approxF(K)=plintp(xsubs(k),xCheby,cf); %approximation $F<=7k 2}
realF(k)=func2b(xsubs(k)); %A Fgks g
end

oAl M= AWE AN e gy

>> maxErr_b=hw4a4b(1,3,5,1000)

[¢]



maxErr_b =
3.4210e-004

>>

x 10"
3.5~

gl/\

HAd @A x=1 4 u] 3.4210e-004 = o dolA FI AW F5rh s o B g
2 7

0.0014

= ZolRw 2 A7} 0.0014F koA alsh ay ko] ulek 4xto]
S+ 0.00187 HZzE Z1& B 4 vk EE mE AEdE S AY deitel wEl HoleAt
= ol & = gtk &, 3 A5 a7 gl wel Hjexr)t anfs

o 2.2} ---> 8.0017e-005
o] QA ---> 3.4210e-004
o Hd 24 ---> 0.0014
o S22 ---> 0.0059
o] 22 ---> 0.0220



5. Choose the m+1 points in the following ways to determine the m-th order polynomial. Compare
then the maximum eror of each case with the one obtained from 4 to show that the Chebyshev
polynomial based points give indeed the lowest maximum error.

a. Equidistance

b. 10 Different sets of random points (use the rand function-rand(m+1,1))

ot 22 35 @5 a)ell tisiA Chebyshev 3479 o= ke 73h mEEd, 107 AE
o] FAG S FoR Tk eats awfxel I ")
In file hw4a5a.m

function [errCheby,errEqui,errRand] = hw4a5a(a,b,m,sub)
increment=(b-a)/sub;
xsubs=a:increment:b;
%%%%%%%%%%%% Chebyshev Polynomial W o2 Hhoxs 438t A7 F&
XCheby=chebypoints(a,b,m);
[y]=func2a(xCheby);
[cf]=cifi(xCheby,y);
n=length(xsubs);
for (k=1:n)
approxF(k)=plintp(xsubs(k),xCheby,cf);
realF(k)=func2a(xsubs(k));

end
maxErr=0.0;
for (k=1:n)

tmpErrl(k)=abs( (approxF(k)-realF(k)) );
if (tmpErrl(k)>=maxErr)
maxErr=tmpErrl(k);
end
end
errCheby=maxErr;
%%%%%%%%%%%% -3t
incre=(b-a)/m;

tlo
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xEqui=aincre:b;
[y]=func2a(xEqui);
[cf]=cifi(xEqui,y);
n=length(xsubs);
for (k=1:n)
approxF(k)=plintp(xsubs(k),xEqui,cf);
realF(k)=func2a(xsubs(k));

end
maxErr=0.0;
for (k=1:n)



tmpErr2(k)=abs( (approxF(k)-realF(k)) );
if (tmpErr2(k)>=maxErr)
maxErr=tmpErr2(Kk);
end
end
errEqui=maxErr;

%9%0%%%%%%% m+17]o] F29] 5 = 10719 setol Al Zhztel dis] oak et

for (j=1:10)
increment=rand(m+1,1);
for (i=1:m+1)
xRand(i)=a+increment(i)*(b-a);
end

[y]=func2a(xRand);
[cf]=cifi(xRand,y);
n=length(xsubs);
for (k=1:n)
approxF(k)=plintp(xsubs(k),xRand,cf);
realF(k)=func2a(xsubs(k));

end
maxErr=0.0;
for (k=1:n)

tmpErr3(j,k)=abs( (approxF(k)-realF(k)) );
if (tmpErr3(j,k)>=maxErr)
maxErr=tmpErr3(j,k);
end
end
errRand(j)=maxErr;
end
%A AR g A el A LHE 1El
plot(xsubs,tmpErrl,'r:',xsubs,tmpErr2,xsubs,tmpErr3(1,:),'LineWidth',3);
%6%%% %% %% %% %% %% %% %% %% %% %% %% %% %% %% %% %% %% %% %% %

9 FFE Tt el sEHY
>> [c e r]=hw4a5a(0,1.5,4,1000)
c =

0.0018

_10_
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0.0032

0.0061 0.0390 0.0314 0.0287 0.0381 0.0800 0.2025 0.0112 0.0177
0.0244

>>

47

Chebyshev Polynomial®] <%l 9t& A9 927} 0.0018%2 7Hg ZHAl Yelwon S3HAo= 3
74$- 0.0032, 183 F29 =2 3 F$-= 0.00610014 0.20257FA thFg FH o) e x7b vl
oA BEW random AECA v HALAR 2ErL ae i Fele w9tk T 2 2
2b5 Holil glom A] Chebysheve] o= 8 #55 S3ll 43 Lagrange interpolation®]
ezt 7bE Aes F9 & ¢ dvk FHA R g A9 x7b AA 3R T4 0.759] 7F
7hg- TRl A = Chebyshev Wow e AorTt ox7F v 2wk x7} 07522 E] Hol A w}
2} Qa7 AXE AL Fel 3 4 9
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olAl 99| 3+ hwdaba.m <ol A &=
2 At Ze B4 S st ohe

func2a() -5 func2b()= ®} A hwéa5b.mo

Fag=g
matlab command window®l] 4|
>> [c e r]=hw4a5b(,3,5,1000)
c =
3.4210e-004
e =
6.7387e-004
r =
0.0015 0.0036 0.0041 0.0063 0.0064 0.0029 0.0119 0.0128 0.0037
0.0009
>>
x 10 ’
1.5+
1 _
S A] Chebysheve &+ Z-9-°] HHx7 HAUS €l & & Advk 7249 2 58 774
M T3 A0l F2 AF S LAE Holu 7 1H4o] & A A= 2x7F wig- AA
= e g & 5 vk =g o] Ak SR e Agol x7F dA 7Y T4 2
of 7W7he el S A7E Ao, 7oA HoAAdFs ol AAE AS ) F 3
=3

_12_



B. Pade Approximation of Matrix Exponential

2. Use different pairs of (n,m) and observe the error of Pade approximation of the matrix exponential
until you obtain the error in each component of the matrix exponential less than 0.5% In MATLAB,
matrix exponential can be readily obtained by expm(A).

e e gaE e
In file exppadematrix.m

function [percentErr,padeValue,funcVValue] = exppadematrix(n,m,A)

% A2 TR Habe] Aot el A4 aelw P AR weth
%% exppade()E “=3oto] ZF Al WMEHE AT

%% FH Al dig exp & AME AlAEsH

%% matlab 5 20 expm() 2 HlaLste] S AHE HAE=R e

%% =% ~EHS FAWUA o] HAY 2k, Z=A o] pade approximationS® A2 A
%% AWA T Y R AL expm(A) #holTh
[an,bm]=exppade(n,m); % AR g5 &F

tmpnume=zeros(size(A));

tmpdeno=zeros(size(A));

for (i=0:n)
tmpnume=tmpnume-+an(i+1)*Ani;

end

for (i=0:m)
tmpdeno=tmpdeno+bm(i+1)*ANi;

end

padeValue=tmpnume/tmpdeno;

funcValue=expm(A);

percentErr=abs( (padeValue-funcValue)./funcValue *100);
%%%% %% %% %% %% %% %% %% %% %% %% %% %% %%

EE o] 5 AES] YAl E 22 dEEgd AlEFE 5 exppade.mo] lojof st

283l nm @& ®SHAAZIH eAE FEA 0.5%0]5kel Aol alEshE nm ks ol
A8l e 2 F5E s

In file hw4b2.m

function [result,nm] = hw4b2(A)

%% W3}sl= n, m kol a4 pade approximation ¢ @z} W3S Aty]7] 95|

%% nmats OB 77k WSIAIA ZFHA 2} 3ol e xtE At

_13_



%% 2t nmell thal]l e x7F 05% Hup 2 A-vh ZERHA nm WSl A Adste] gl s

nbound=7;

mbound=7;

nm=NaN;

i=1;

for (n=0:nbound)

for (m=0:mbound)
errMatrix=exppadematrix(n,m,A);

result(i,1)=n;
result(i,2)=m;
result(i,3)=errMatrix(1,1);
result(i,4)=errMatrix(1,2);
result(i,5)=errMatrix(2,1);
result(i,6)=errMatrix(2,2);

i=i+1;
end
end
len=i-1;
=1
for (i=1:len)

if (result(i,3)<0.5 &&result(i,4)<0.5 &&result(i,5)<0.5 &&result(i,6)<0.5 )
nm(j,1)=result(i,1);
nm(j,2)=result(i,2);
=i+l
end
end
nm=nm’
%%%% %% %% %% %% %% %% %% %% %% %% %% %% %% %% %% %% %% %% %

olAl iEH AWM= AEoM T 2L HHyolE Y

o
o
(2

>> A=[1,0.5;-0.5,3]
A =

1.0000 0.5000
-0.5000 3.0000

_14_



>> B=[2,1;-1,5]
B =
2
-1 5

>> [res_A,nm_A]=hw4b2(A);
>> [res_B,nm_B]=hw4b2(B);
>> nm_A

nm_A =

Columns 1 through 22

2 3 3 3 4 4 4 4 4 5 5 5 5 5 5 6

7 5 6 7 3 4 5 6 7 2 3 4 5 6 7 1 2 3 4

Columns 23 through 29
T 7 17 17 71 71 7
1 2 3 4 5 6 7

>> nm_B

>

|3

vs]
~ o
TN
ol

>>

19 nm_A, nm_B 3 H-& 7} columno] Foixl dH A, Boll th$t pade approximation®] <2.x}7}
0.5% vIRFSl &4}, £& A-S orjdth. = (nm) el (2,7), 35), (36).. oA AH A7}
22k 05% WRFS® exponential #to] AltE & e RS onsth. g™ Bl tiaEAl= (nm)
ol (5,6), (5,7),.. & wf BlnLA ZE& 9 Aol A exponential S AAE 4= Q)

_15_



3. Matrix B would require higher orders. What would be the major factor requiring higher orders in
Pade approximation of matrix exponential?

WEHA BE 7153 n mS 05H 77HZE PL v (5,6)5F vElUE HiH nEl A AE
2,7, & 35%H UEYa &S AT 4 9= d], o] Pade approximation®] WlE =2 J
o ntmal FAA FElGFE dAATE delA V@t &, MEFRY G5 08 TR
3 glUy A gomz FolA o] e L—*&wﬁoﬂ 0ol A e "oldE 9a7t AA
AR SAE05%)WE S HqH o & A5 2

&t7] 918 hwab2.mS G4 8ke] mjEE A8l ofy

& Ay

g

=

7t 2 5
g U AFE WS YES 1 hwabd.m

g i

O~

In file hw4b3.m

function [result,nm] = hw4b3(A)

%% W3}sl= n, m gkoll thal A pade approximation o] 9.z W3S 2ty]7] 9
%% nmuks OF-E] 77hA] WStAA 7hAA ZF e extE Xﬂﬂﬂﬁ‘r

%% Z+ nmell thal 2217} 0.5% B} 2 A9k FEhAq nm °ﬂ 1% A
%% A 7)o Wt AE o2 F elementd] WEE FH k] hW4b291r < A3E drh
nbound=7;

mbound=7;

[a,b]=size(A);

dimension=a*b;

nm=NaN;

i=1;
for (n=0:nbound)
for (m=0:mbound)
errMatrix=exppadematrix(n,m,A);
result(i,1)=n;
result(i,2)=m;
for (k=1:dimension)
result(i,2+k)=errMatrix(k);

end
i=i+1;
end
end
len=i-1;
=1
for (i=1:len)
tmp=1;
mask=0;

_16_



for (k=1:dimension)
mask=result(i,2+k)<0.5;
tmp=tmp*mask;
end
if (tmp==1)
nm(j,1)=result(i,1);
nm(j,2)=result(i,2);
=ity
end
end

nm=nm’;
%%%%%%% %% %% %% %% %% %% %% %% %

of ZRYL AL ThEg Flsun
>>[res_1,nm_1]=hw4b3(0);nm_1

nm_1 =

Columns 1 through 22

>>[res_1,nm_1]=hw4b3(1);nm_1
nm_1 =

Columns 1 through 22

_17_



Columns 23 through 44

Columns 45 through 53

>> [res_1,nm_1]=hw4b3(2);nm_1

nm_1 =

Columns 1 through 22

>> [res_1,nm_1]=hw4b3(3);nm_1

nm_1 =

Columns 1 through 22

Columns 23 through 29

7 7 7 7 7 7 7
1 2 3 4 5 6 7

>> [res_1,nm_1]=hw4b3(5);nm_1

nm_1 =

5 5
3 4
3 4
7 2

6

7 0
5 5
3 4

_18_



O]-—aa E*SH X %J\-O] Ooﬂ}\:i %O-‘l 7(]5,:& ]:—] lc_o ]__/':__,.E .?L-—‘o}_,__b :)\7_]__0 o} ,’_'7: ]I;}‘
=
T

webd ol @l SgAA Azt mw AHe] PHAo] 0olH WolAEE o] B A5E
a7d Aor AZEE o, Ast B FPAE Fls) uw
>> det(A)
ans =
3.2500
>> det(B)
ans =
11
>>
24 3149 B determinent’} B & & 4 St}
o & E9] determinent’} 2 ow YHo 3] Al HH
>> (C=[1,0.1;0.1,1]
C =
1.0000 0.1000
0.1000 1.0000
>> [res_1,nm_1]=hw4b3(C);nm_1
nm_1 =
Columns 1 through 22
1 1 1 2 2 2 2 2 3 3 3 3 3 3 4
5 6 7 3 4 5 6 7 2 3 4 5 6 7 2
Columns 23 through 44
4 5 5 5 5 5 5 5 6 6 6 6 6 6 6 6 7 7 7
1 2 3 4 5 6 7 0 1 2 3 4 5 6 7 0 3
Columns 45 through 48
7 7 7 7
4 5 6 7
919} Zol determinent7} 2o U 2 AR Pade CAME 2 S ¢ e o ¢ A
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FE-%=, function list
chebypoints.m
func2a.m
func2b.m
hw4a2.m
hw4a3.m
hwdada.m
hw4adb.m
hw4a5a.m
hw4a5b.m
exppade.m
exppadematrix.m
hw4b2.m
hw4b3.m

cifi.m

plintp.m
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